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20  3, – 11  P1 

 

 

for start of a process to complete the square,  

eg ( )2
2 6 ...x x−  or ( )2

2 6 ...x x−  or  (x – 3)2 … 

or an x coordinate of 3 

 

… can be any constant term, 

but not a term in x 

   P1 

 

for completing the square (y = ) 2(x – 3)2 – 11 

or substitutes their value of x into the equation to find y 

 

 

   A1 

 

cao  

21  Graph C2 

 

for a fully correct transformation 

 

 

   (C1 for a correct translation of g(x) of 2 units in the positive y-direction or a 

correct reflection of g(x) in the y-axis  

or for at least 2 of the points (–1, 1), (1, –2), (3, 1) transformed to the 

correct final position, eg (1, 3), (–1, 0), (–3, 3)) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 




